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Question 1   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

In 31.42, which digit is in the tenths place?

A. 1

B. 2

C. 3

D. 4
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A. 1.06

B. 1.3

C. 1.35

D. 1.6
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A. 123

B. 126

C. 127

D. 129
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Andre had a number of red apples, green apples and oranges in the ratio 8:3:2. What is the ratio if the
number of oranges to the total number of apples that Andre had?

A. 2:11

B. 2:13

C. 11:2

D. 13:2
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Question 5   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

On a bus, 9 of the passengers were men, 15 of the passengers were women and the rest were
children. Given that 20% of the passengers were children, how many passengers were there in total on
the bus?

A. 24

B. 30

C. 96

D. 120

Question Type: Multiple Choice
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Question 6   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

A train left Town X for Town Y. The journey took 3h 50min. The train arrived at Town Y at 11 05. What
time did the train leave Town X?

A. 07 15

B. 08 40

C. 08 45

D. 08 55
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A. 142

B. 144

C. 148

D. 154
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Given that a total of 104 adults visited the shop on Wednesday and Thursday, find the ratio of the
number of children to the number of adults who visited the shop on these two days

A. 6:13
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B. 6:19

C. 13:6

D. 13:19
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A. 8

B. 10

C. 17

D. 19
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A.

B.

C.

D.
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A. 6 cm

B. 12 cm

C. 18 cm

D. 20 cm
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The lengths of two ribbons are in the ratio 5:3. The length of one ribbon is 30cm longer than the other.
Find the length of the shorter ribbon.

A. 18 cm

B. 45 cm

C. 50 cm

D. 75 cm
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At first, Walter and Ming Ming were facing the same direction. Then, Walter turned 225 anti-clockwise
to face South-West and Ming Ming turned 45 clockwise to face South-East. Which direction were
Walter and Ming Ming facing at first?

A. East 

B. North 

C. South 

D. West 
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A. 50

B. 84

C. 90

D. 94
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The chairs in a hall were arranged in rows. Each row had the same number of chairs. William saw on
one of the chairs. There were 5 chairs to his right and 5 chairs to his left. There were 4 rows of chairs in
front of him and 8 rows of chairs behind him. How many chairs were there altogether in the hall?

A. 120

B. 130

C. 132

D. 143
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A. AB

B. AC

C. BC

D. CD

E. BE

F. AF

G. FE

H. ED

I. FD
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A rectangular tank measures 12cm by 10cm by 9cm. What is the capacity of the tank?

Accepted answers:

1080cm3

1080 cm3

1080
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Express 9 minutes as a percentage of 1 hour
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15%

15 %

15
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Question 21   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

A. A

B. B

C. C

D. D
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Question 23   Primary 6 Math » Primary 6 Math (Prelim) 1 pt
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25cm

25 cm

25
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Mrs Tan deposits $4000 in XYZ Bank for one year the interest rate of 1.4% per year. How much interest
will she get at the end of one year?

Accepted answers:

$56

$ 56

56
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Question 25   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Ellie had $(y+7). Flora had $4 less than Ellie. Gloria had $2y more than Flora. 


a) Find the total amount of money the three girls had in terms of y. Express your answer in the simplest
form.

Accepted answers:

(5y+13)

5y+13
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b) Given that the three girls had a total of $33, find the value of y.

Accepted answers:

$4

$ 4

4
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Question 27   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Ace, Ben and Charlie have some marbles. The number of marbles that Ace and Ben have is in the ratio
4:5. The total number of marbles Ace and Ben have is three times the number of marbles Charlie has.
Given that Ace and Charlie have 350 marbles, how many more marbles does Ben have than Ace?

Accepted answers:

50
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24
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Question 29   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

b) Pupils who did not score enough points in the first round could not take part in the second round. 16
pupils could not take part in the second round. What was the least number of points a pupil must have
scored in order to take part in the second round?

Accepted answers:

3
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Question 30   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

A piece of wire is bent to form a rectangle of area 162cm2. The length of the rectangle is twice its
breadth. Find the breadth of the rectangle.

Accepted answers:

35

35cm

35 cm

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,378

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 31   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

40

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,380

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408378
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408378&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://0cm.classmarker.com/10070943_KVE484JN.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408380
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408380&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
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Question 32   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

At first, Kate placed all her beads into 30 boxes with an equal number of beads in each box. 6 of the
boxes were broken and the beads in these broken boxes were then placed into the remaining 24
boxes. As a result, the number of beads in each remaining box increased by 10. What was the number
of beads in each box at first?

Accepted answers:

40

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,387

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 33   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

8cm

8 cm

8

Question Type: Free Text

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408387
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408387&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://0cm.classmarker.com/10070943_QMBG1ZK9.png
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Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,391

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 34   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Jane had some money. She spent $15 and gave Lisa $10. In the end, both Jane and Lisa had the
same amount of money. How much more money did Jane have than Lisa at first?

Accepted answers:

$35

$ 35

35

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,399

Correctly answered feedback

10+10+15=35

Incorrectly answered feedback

10+10+15=35

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 35   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

48

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408391
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408391&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408399
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408399&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://0cm.classmarker.com/10070943_VUVN5E15.png
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QID#: 29,408,404

Correctly answered feedback

30/100=3/10

1/5=2/10

1- 2/10 - 3/10 = 5/10

80x2=160

3/10 x160=48

Incorrectly answered feedback

30/100=3/10

1/5=2/10

1- 2/10 - 3/10 = 5/10

80x2=160

3/10 x160=48

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 36   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

1650

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,408

Correctly answered feedback

1/2h = 30min

300÷12=25

300÷10=30

30x30+25x30=1650

Incorrectly answered feedback

1/2h = 30min

300÷12=25

300÷10=30

30x30+25x30=1650

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408404
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408404&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://0cm.classmarker.com/10070943_4RADOUZG.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408408
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408408&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
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Question 37   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

72

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,416

Correctly answered feedback

180-55-90=35

180-71-90=19

180-19-19-35=72

Incorrectly answered feedback

180-55-90=35

180-71-90=19

180-19-19-35=72

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 38   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

https://0cm.classmarker.com/10070943_LS9PATEG.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408416
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408416&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
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Accepted answers:

605cm2

605 cm2

605

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,423

Correctly answered feedback

22÷2=11

1/2 x 11 x22=121

22x22=484

484+121=605

Incorrectly answered feedback

22÷2=11

1/2 x 11 x22=121

22x22=484

484+121=605

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 39   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Chin Meng earned the same amount of money each month. In October, he spent $1070 and saved the
rest. The amount he spent in November was a 30% decrease from what hue spent in October. As a
result, his savings from November increased by 60%. How much money did Chin Meng earn each
month?

https://0cm.classmarker.com/10070943_09VZY3BU.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408423
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408423&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
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Accepted answers:

$1605

$ 1605

1605

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,437

Correctly answered feedback

321÷60=5.35

5.35x100=535

535+100=1605

Incorrectly answered feedback

321÷60=5.35

5.35x100=535

535+100=1605

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 40   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

$48.40

$ 48.40

48.40

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408437
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408437&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://0cm.classmarker.com/10070943_V5E63U34.png
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QID#: 29,408,452

Correctly answered feedback

40x1.21=48.40

Incorrectly answered feedback

40x1.21=48.40

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 41   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

b) Mr Muthu spent $103.12 on water usage ins September. What was the volume of water Mr Muthu
used in that Month?

Accepted answers:

76m3

76 m3

76

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,463

Correctly answered feedback

10312-48.4=54.72

54.72÷1.52=36

36+40=76

Incorrectly answered feedback

10312-48.4=54.72

54.72÷1.52=36

36+40=76

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 42   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408452
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408452&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408463
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408463&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
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Accepted answers:

(14p+6)cm

(14p+6) cm

14p+6cm

14p+6 cm

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,471

Correctly answered feedback

12p÷4=3p

3px4+ (p+3) x 2 = 12p + 2p + 6 = 14p+6

Incorrectly answered feedback

12p÷4=3p

3px4+ (p+3) x 2 = 12p + 2p + 6 = 14p+6

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 43   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

b) Find the area of triangle ABF given that p=6

Accepted answers:

162cm2

162 cm2

https://0cm.classmarker.com/10070943_HGKNH0VQ.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408471
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408471&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
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162

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,477

Correctly answered feedback

3p=3x6=18

1/2 x 18 x 18 = 162

Incorrectly answered feedback

3p=3x6=18

1/2 x 18 x 18 = 162

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 44   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

300

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,499

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408477
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408477&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://0cm.classmarker.com/10070943_XXTFGWH1.png
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Correctly answered feedback

250+325+225+400=1200

1200÷4=300

Incorrectly answered feedback

250+325+225+400=1200

1200÷4=300

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 45   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

b) Find the percentage increase in the number of burgers sold from February to March 

Accepted answers:

30%

30 %

30

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,501

Correctly answered feedback

325-250=75

75/250 x 100% = 30%

Incorrectly answered feedback

325-250=75

75/250 x 100% = 30%

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 46   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408499
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408499&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408501
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408501&duplicate_question=1
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11/1/21, 10:29 AM ClassMarker - Manage Test

https://www.classmarker.com/a//tests/test/?test_id=1838311 28/39

Accepted answers:

120

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,508

Correctly answered feedback

10x3=30

10x2=20

20÷4=5
30÷5=6
6x1.99+5x0.99=16.89

101.34÷16.89=6

6x20=120

Incorrectly answered feedback

10x3=30

10x2=20

20÷4=5
30÷5=6
6x1.99+5x0.99=16.89

101.34÷16.89=6

6x20=120

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 47   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

https://0cm.classmarker.com/10070943_LR4MM3Z7.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408508
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Accepted answers:

188

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,514

Correctly answered feedback

Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 48   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

https://0cm.classmarker.com/10070943_R5RTYTJG.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408514
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408514&duplicate_question=1
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Accepted answers:

70

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,519

Correctly answered feedback

(14x43)+(5x55)+(2x32)=941

4750÷941=51

5x14=70

Incorrectly answered feedback

(14x43)+(5x55)+(2x32)=941

4750÷941=51

5x14=70

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 49   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

https://0cm.classmarker.com/10070943_G3FG887A.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408519
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408519&duplicate_question=1
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Accepted answers:

3.6l

3.6 l

3.6

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,531

Correctly answered feedback

3/5x60x150x120=648000

648000-540000=108000

108000cm3=108L

108÷30=3.6L

Incorrectly answered feedback

3/5x60x150x120=648000

648000-540000=108000

108000cm3=108L

108÷30=3.6L

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 50   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

https://0cm.classmarker.com/10070943_F6PLPNBV.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408531
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408531&duplicate_question=1
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Accepted answers:

1712cm2

1712 cm2

1712

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,567

Correctly answered feedback

80÷4=20

20x2=40

20x40=800

1/2 x 3.14 x 40 x40 =2512

2512-800=1712

Incorrectly answered feedback

80÷4=20

20x2=40

20x40=800

1/2 x 3.14 x 40 x40 =2512

2512-800=1712

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 51   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

b) Find the perimeter of the shaded figure (Take pi = 3.14)

Accepted answers:

https://0cm.classmarker.com/10070943_NF0Z65F1.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408567
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408567&duplicate_question=1
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291.2cm

291.2 cm

291.2

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,577

Correctly answered feedback

3.14x40=125.6

125.6+20+20=165.6

125.6+165.6=291.2

Incorrectly answered feedback

3.14x40=125.6

125.6+20+20=165.6

125.6+165.6=291.2

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 52   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

360

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,581

Correctly answered feedback

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408577
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408577&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
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180x3=540

540-180=360

Incorrectly answered feedback

180x3=540

540-180=360

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 53   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

Accepted answers:

36

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,586

Correctly answered feedback

180-32-40=108

180-108=72

Z=180-72-72=36

Incorrectly answered feedback

180-32-40=108

180-108=72

Z=180-72-72=36

https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408581
https://www.classmarker.com/a/tests/qb/manage/?test_id=1838311&question_id=29408581&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1838311
https://0cm.classmarker.com/10070943_KZU4509I.png
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 54   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

x=y=z

A. True 

B. False 

C. Not possible to tell

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,598

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 55   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

ABEG is a trapezium 

A. True 

B. False 

C. Not possible to tell

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,601

 Answers
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a) Given that Shop B sold each television set at a fixed price of $1200, did it sell more, fewer or an
equal number of television sets than Shop A in a month of July? Show your working clearly

A. More 

B. Fewer 

C. Equal 

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,621
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156000÷1200=130

Incorrectly answered feedback

156000÷1200=130

 Answers
 |  Edit  |  Duplicate  |  Used In
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Question 57   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

b) Shop A had a promotion in the month of August where each television set was sold air 30%
discount. Given that Shop A collected $34 250 more than Shop B in August, find the amount of
discount given by Shop A for each television set sold

Accepted answers:

$375

$ 375

375

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,633

Correctly answered feedback

132000+34250=166250

166250÷70x30=71250

71250÷190=375

Incorrectly answered feedback

132000+34250=166250

166250÷70x30=71250

71250÷190=375
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Accepted answers:

17

Question Type: Free Text
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b) How many stickers are there in Figure 28?

Accepted answers:

98

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,641

Correctly answered feedback

3+4=7

21(7x11)=98
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Incorrectly answered feedback

3+4=7

21(7x11)=98

 Answers
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Question 60   Primary 6 Math » Primary 6 Math (Prelim) 1 pt

c) Cedric used 2327 sticks to form a figure. Which Figure number did he form?

Accepted answers:

665

Question Type: Free Text
Date Added: Thu 21st Oct 2021
Last Modified: N/A
QID#: 29,408,645

Correctly answered feedback

2327÷7=332R3

332x2=664

664+1=665

Incorrectly answered feedback

2327÷7=332R3

332x2=664

664+1=665
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